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Before we start we are going to clear and set up the calculator

1) Resetting/ Clearing 2) Normal Mode
(8]
L
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CAcl :Ccancel
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We select Option 2 so that our
Reset All answers appear in a decimal format
Plress [AC] kew and not scientific notation.

Rounding Off:

We are able to ‘fix' numbers to a selected decimal place.

¥
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Choose Option (6]
Select the number of Decimal Places you want

Note the word FIX on the top of your screen.

Your answer will now be rounded off to a selected decimal place.

BUT

This must be undone, as it does not automatically go away. Meaning all answers
will continuously be rounded fo a selected number of decimals and not only the
final answers rounded.

Go back to
Norm Mode
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Let's start with the basics

0° | 30° | 45° | 60° | 90°
sinz —— A
Hypotenuse sindl 0 % g % 1
. Adjacent
" Hypotenuse e BlL2]1 0
22 2
tan 6= Y
Adjacent . N B3 +0
Adjacent g 0 3 L s |
Find the value of the following:
1) Sin(45°)=
CdE) Wath &
S1H
@EE0E =
F

2) Use the triangle below to find ©

We have been given the opposite
and the adjacent sides therefore
we will be using tan.

S5km We need to use the inverse as we
are now finding an angle.
) v
) 10kmn g
o] Math &
Follow the key sequence: tan [ %]
B®IO®OIE
26, 56005118

Therefore 6 = 26.565°



Let's apply this to an exam situation:

QUESTION §

3.1 In the diagram, P(k; 1) is a point in the 2™ quadrant and is V5 units from the
origin. B is a point on the positive x-axis and obtuse ROP =4.
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5.1.1 Calculate the value of & (2)
5.1.3 Use a caleulator to calculate the value of  tan(28 - 40%)  correct to
ONE decimal place. (3)

If the question says without the
use of a calculator remember
that you may use a calculator to
check your answers!

5.1.1) To work out k, we will make use of pythagoras.

=)

Follow the ke,y sequence: [E] = _ 1 - ] Math &
NEECOBEDBE )
@ | 2

But k will =-2 (on the negative x axis)



5.1.3) tan(20-40°)

Calculate tan® first
Follow the key sequence: EHEO®ReDE

tan| -]
-26. 56505118
Therefore tan® = 26.57°

0= 180°-26.57°
0= 153.43°

tan(20-40°)=

(X OEHEHEAENEHAOONE

ban(2x153,43)-p | Therefore=18.2
18, 2287921
9 What do I do if I get a syntax error?

Math

m
Srntax ERROR

CACZ]  iCancel
C4alCel:Goto

Use the to go directly to your mistake.

A commonly asked question: How do I enter cos?45° on the calculator?

cos?45° is exactly the same as cos45°,

Follow the key sequence: (4] (5] =)

cos(45)<

Math A

1
z

Math Error:

Math

[C]

Math ERROR .

Eg: tan90°= The answer is

[AC]  fCancel
C41Ce]1:GotD

undefined.
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FunNctionNs

What is a Function?

A function relates an input to an output.

e

function name input

How can a calculator assist us with functions?

Let's look at a few different examples.

1) Directions: Complete the table of values to graph each function.

fix) = x2-6x +5

s dousl Y 1 2 3 4 5 6
Step 1: Change into Tables Mode m =
Toaa

Key Sequence: E)

Step 2: Enter in the function given

TR I=0E -AR+5
Key Sequence: =] (e (5]

Math

Math

g x4
Step 3: Press (=] Press (=] again

This is due to us only having one function.




sStart?

Step 4:

Math

O

-
Notes:

What is a start?

Refer back to the table the lowest x- value is O. o ) ,
This is the point you would like
Key sequence: (0] (=) to start at.
Math
Step5: | Encd? We use the lowest x- value as
5 our starting point.
The highest x- value is 6.
i ?
Key sequence: (6) &) What is an end:
2] Hah This is the point that you would
Step 6: 7
P Stens like to end at.
1 We use the highest x- value as
our end point.
The table goes up in intervals of 1.
Key sequence: (1] (=] What is a step?
A step is the intervals you want
to go up in.
i ey | g | Fa [ g | R |
- | - | - | | -
3 g -3 a B -%I [ = H i

We can now complete our table using this information provided.

X 0 1 2

3 4 5

6

f(x)




2) Draw the graphs of f(x)=x2-6x+5 and g(x)=x-1 given that (-1<x<7) on the
same set of axes.

Key Log Screen Capture
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Let's apply this to an exam situation:
QUESTION 8
The graph of f(x)=-x+13x+12 is sketched below.

A, B and D(-1;0) are the x-intercepts of f.
C is the y-intercept of f.
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8.1 Write down the coordinates of C. (1)
8.2 Calculate the coordinates of A and B. (5)

This is how we feel when we see this question!

Do not fear, you have a calculator near!

Take a nice deep breath and use tables mode to help you out.
8.1) What is C on the graph? y- intercept

8.2) What are A and B? x- intercepts



Key Log Screen Capture
HmOEaE0R®WOE E—
(M (2] then B TR +138+12
We do not have a g(x) so we do not arw 1 = W
need to enter anything in here.
Just press (I
No start point is given so you can Start = F
choose where you would like o start _a
No end point is given so you can choose Ercl= = R
where you would like to end A
T i = Mzth

ry where you can to step in whole S
numbers.

1
i F IIEII - " F IIEII e 4 F I:ﬁil o
| | BT g3 &
3 -2 -B 4 B _q aly ) g -'? 0

How does this help us?

Look for where x=0 to find the y- intercept.

Look for where y=0 to find the x- intercept.

8.1) Co- ordinates of C (0;12)

8.2) Co- ordinates of A (-3;0) and B (4.0)

Remember that no working means no marks. Use the calculator to check

answers.




QUESTION 6

In the diagram. the graph of f(x)=cos2x isdrawn for the interval x =[-270°;90°].

= = 13
.f . d “\\ /_,; - y
y - A %, .
& I k\\ X! _ ‘o — X
270 rd -1 80° “, " ~ o M ag-

- = M - - \‘-H

- e | .| 5
6.1 Draw the graph of g(x)=2sinx -1 for the imterval x=[-270°;90°] on the grid
given in your ANSWER BOOK. Show ALL the intercepts with the axes, as well as

the turning points. (4)

& Remember 2sin(x)-1 and 2sin(x-1) are 2 different questions

Key Log Screen Capture
@2)sn (N D E @ then B foXI=2sindK1-11
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(3] (0] and (= ep
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Step 1: Go into Stats Mode (2]

Our focus will only be on:

1: 1- VAR (Single Variables/ Data Handling)

2: A+Bx (Linear Regression)

Let's look at an example

1) A short test was marked out of 10. The marks of 14 learners are: 4; 5;6; 7; 8: 8;6;9; 9: 2: 10; 3; 5; 6.

a) Determine the average marks of the learners.

b) Calculate the range of the learners marks.

Step 1: Select Option 1 for this question.

STAT

1J

Step 2: Enter the data given.

phmedé

Your data does NOT

have to be in ascending order!

WEGEEEEEHEEEEEEEMEE
EAENONEEAEEEEE

Always go back and check that your data is correct.

Step 3: [ad (s (1]

1:Trre
S Eum
S:MinMax

Ziratas
d: War




A Stats menu will appear:

Key Menu Ttem Explanation
1. Type Stats Menu Changes stats type
2. Data Displays the data that you input
3. Sum 1. Zx? 1. Sum of the squares
2. ZX 2. Sum/ Total of data
4. Var ILn Number of samples
2. X Mean
3.0x Population standard deviation
4 sx Sample standard deviation
5. MinMax 1. Min 1. Indicates the minimum value
2. Max 2. Indicates the maximum value

Now we can answer our questions.

]
=

a) Select (4] then (2]

STAT

followed by (=]

|

B. 255714786

Therefore the average mark is 6.29

Always read instructions as often in statistics rounding is required.

To return to the stats menu D)

STAT

b) Select (5] then (2] (=] M-

100

followed by aJ

Select (5] then (1] (=] minw

Ans: 10-2=8.




Let's see how we can apply this to an exam situation:

QUESTION 2

A survey was conducted among 100 people nboul the smount that they paid on a monthly basis
for their cellphone contracts, The person carrying oul the survey caleulated the estimated mean
to be B309 per month. Unforiunately, he lost some of the data thereafter. The partial resulis of
the survey are shown m the f".'ve:t:|u-:'1'|-: y table below:

AMOUNT PAID | FREQUENCY

_(IN RANDS)

U< xS 00 7
100 < x = 200 o 1-2
200 < x = ,'HH,I. . i
300 = x '-'--U:HI_ 1 _.?;ﬁ o
400 = x < 500 h
500 = x = 600 f J

You will need to calculate a & b before we can enter the data.

T+12+a+35+b+6=100

b=40—a
300 — (50=T)+(1530=12) + (250 = a) + (350 35) + (450 = ) + (550 = G)
100
300 = (502 T+ (150=12) + (250x @)+ (3502 35)+ (450 (40— a)) + (550 = §)
100
350+ 1800+ 250a + 12250 + 18300 — 450a= 30000
200 =4 800
a=24
b=16

For this question we need to turn a frequency table on.

Turning a frequency table on:

Key Sequence:

v .
1:MHMERIO Z:LlimnmeI0 é:g?g% E=$£§LE
.- -M@E S =3 dsRad : :
il S1Era SiFix @ Silbi=F S AalPO
TiECi Se MHorm FrACOMT -
F T i FF:EE
Feqllenc >
(&) 1:20H Z = OFF Ll i
3
E i W FRED
nter the data | - " as0 -
g 150 Iz 5 uso
3 250 au B 5G0 :
7 (=)

(1] This takes you back to the stats menu

Remember to turn off the frequency table when you are finished with it.



Linear Regression

Set your calculator to calculate bi- variate data.
[
lll ‘

Linear regression is used fo determine if there is a linear relationship between
different variables.

frong) (2] (2]

Let's apply this to an exam situation:
QUESTION 1

The table below shows the monthly income (in rands) of 6 different people and the amount (in
rands) that each person spends on the monthly repayment of a motor vehicle.

MONTHLY INCOME c c
(IN RANDS) | 9000 13300 [ 15000 | 16300 [ 17000 | 20000
MONTHLY REPAYMENT N
2
(IN RANDS) 2000 3 000 3500 5200 5500 6 000
1.1 Determine the equation of the least squares regression line for the data. (3}
1.2 If a person earns R14 000 per month, predict the monthly repayment that the person
could make towards a motor vehicle. (2}
L3 Determine the correlation coefficient between the monthly income and the monthly
repayment of a motor vehicle. (1)
STAT = STAT O]
Enter the data || &oon -!-'ITITIT| y| 18son| Szoo
2| 13500 3ooon S| 11000
3l 15000 E 1] Bl 20000 b
=000 SO00

AC] [SHIFT 1:Twre ZiData
m S Eum d: War

S5tRe9 S MinMax

Go into (5]

o)
RE |
B
H=m




Breakdown of Regression Menu:

Menu Item Explanation
1. A Regression co- efficient of A
2. B Regression co- efficient of B
3.r Correlation co- efficient
4 z Estimated value of x
5. Y Estimated value of y

Now we can answer the questions:
1.1) Least squares regression line is y=A+Bx

We need to find A and B
mE A

-1946. 875

(1) followed by (5]
2JE |E

0. 40528584615
Therefore y=-1946.875+0.41x

(1] followed by (5]
1.2) Interpolation (inside the data set)

We have been given the estimated x- value of R14 000. We need to

find the estimated value of y.

F@OEA@AQO@E | 140003

STAT =

B8 140005
ad2Y . 165462

The monthly repayment would be R 3 727.16.

(1] followed by (5]
1.3) Correlation Co- efficient (r)

r_\_ STAT [C]
@ @ 0. 9459538915
Therefore r= 0.946/ 0.95




~ _Financ'iai‘ Maths -

Often in Financial Maths we need to carry values or answers down info questions

A useful tool that we have on our calculator is the ability to store values and
recall them to use at a later stage.

EEPEEETEE We can use the red functions
sin cos tan

x atofy m- w AN F, X, Y and M to store.

This is called variable memory

How do I store? B Ty
aa0
Enter in the value (3] (5] (0] (=)
=50
Let's store this in A ANS+H
S50

This indicates that the value entered can now be found in A.
How do I use this value?

There are different ways we can do this. Either by using the variable itself or
by recalling what is in A.

Let me explain.

= |H Or A
350 el
We can do the same for B and any of the other variables
Enter in the value (5] (2] (0] (=] o520
520
Let's store this in B Ans+H
520

This indicates that the value entered can now be found in B.



Let's look at a past paper question now:

QUESTION 6
6.1 Two friends, Kuda and Thabo, each want to invest R5 000 for four years. Kuda
invesis his money in an account that pays simple interest at 8,3% per annum. At the
end of four years, he will receive a bonus of exactly 4% of the accumulated amount.
Thabo invests his money in an account that pays inlerest at 8,1% p.a., compounded
monthly
Whose investment will yield a better return at the end of four years? Justify your
answer with appropriate caleulations. (3)
We need to do some calculations
Step 1: Kuda : A=P(1+in)x1.04
Thabo : A=P(1+i)"
Step 2: Let's look at this in Tables Mode

foog (B) | Tral=

Math

Enter in the equation and use x in place of the number of years.

Key Log Screen Capture

KOO X OGO @E frad=R000c1+0. 0k

e W
BE

.@B@ ] Math
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Step 3: You only want to see the comparison at the end of year 4. Therefore we
will start at year 3 and end at year 4. This gives us the ability to look at only 1
year.

@ @ = Math
Start?
=
BE Enc? -
4
@ME Step? -
1
O] Math O] Math
A ® alghsigledie | * 3|eheties|gai
: Tl (gagE, WEEN S : | Eaae. b |
595 . d S5205. 714555

What does this mean???

We can now see that in Year 4 Kuda will have R6926.40 and
Thabo will have R6905.71.

Therefore we can conclude that Kuda will have the better
investment.

Now for some fun, let's look at a coin. It has heads and it has tails. We can use
the calculator to experiment with probability.

Let heads be 1 and tails be 2.
MO DE G | RenInt#il.=m

Let's look at what happens if the coin is tossed 5 times. Press [=]5 times.

RanInt#i1,2) | |RanInt#cls2y | | RanInt#il,2y
2 1 1

RanInt#i1:2) | |Ranlnt#ils2) | | My results are as follows:
1 ; Tails, Heads, Heads, Heads

nd Tails.
This is a useful way to show learners ane d
probability. ©




